KEEH [A /3 —DFER]

2025 £ 8 A 14 B (K)

AL BHDCP ETR e
FTEUHIRR - 79} 1y
HDCPERR: (58) (%) =
B4 pa iy o i OUT|1 N|GROSS| HDCP | NET B BEy A e OUT|1 N|GROSS| HDCP | NET
& IR AR 35 34 69| 3.5/ 65.5 M | FH A 43 51 94/ 10.5/ 83.5
@ D)l FE 44 43 87| 15.7] 71.3 4241 [EAR =8B 56 54/ 110/ 25.5/ 84.5
M N B— 42 40 82/ 10.5/ 71.5 4361 [FIER —B 44 50 94 9.5 84.5
M HA EX 4 38 79| 6.5 72.5 M =K BB 51 58| 109/ 23.9] 85.1
S HII =E 47 45 92 19.5/ 72.5 45461 Pl F05 53 47 100/ 14.7| 85.3
64 |kl FE 43 46 89| 16.5| 72.5 4661 BR HNE 4 44 85| -1.2] 86.2
M kE 1= 42 40 82| 8.9 73.1 461 BH L 45 51 96| 9.5 86.5
8 #RH =A 45 45 90| 16.5| 73.5 4861 ST E 1 53 52| 105/ 16.9] 88.1
M =K ER 46 41 87 13.3] 73.7 494 #AME  #S—BR 45 52 97 7.9/ 89.1
106 BE & 44 46 90| 15.7| 74.3
141 MA FEH 46 39 85| 10.5| 74.5
1247 A FBA 44 40 84/ 9.5| 74.5
1367 #H 5 42 40 82| 7.5/ 74.5
1461 Bl 487 45 46 91| 16.5| 74.5
1567 #HIR #BX 40 42 82| 6.9/ 75.1
1661 KIE & 48 45 93 17.5| 75.5
1760 HFE FX 42 47 89 13.5/ 75.5
1861 FiE — 42 43 85| 8.5 76.5
1961 =8 IFRA 42 46 88/ 10.7, 77.3
2062 KiIF EE 43 39 82| 4.5 71.5
216 M8 & 45 45 90| 12.5| 71.5
2241 #RE IEH 50 43 93| 14.9] 78.1
2361 | ZH  HE—ER 52 54/ 106/ 27.9/ 78.1
2441 ([ R 44 50 94| 15.9] 78.1
250 EH BWE 51 47 98] 19.7/ 78.3
26460 | FH A 46 53 99| 20.7| 78.3
27461 F%F  HEAER 43 45 88/ 9.5/ 78.5
2861 AR ALB 44 50 94| 15.5| 78.5
294 | |LIRE  REEA 40 42 82 2.8/ 79.2
04z AR 18X 49 43 92 12.7] 79.3
L | =5F Bus 44 46 90| 10.5] 79.5
261 BAXR FH— 44 46 90| 10.5| 79.5
L FxF FA 48 54| 102] 22.5| 79.5
M O BA 51 52| 103] 22.7| 80.3
B F EBEE 45 48 93| 11.9] 81.1
364 | KiF HBA 45 51 96| 14.9] 81.1
ST6I i A 53 59| 112] 29.9/ 82.1
8z /B EE 46 45 91 8.5/ 82.5
J9GI |uEIE RR= 44 48 92| 9.5/ 82.5
4061 KiE E 46 53 99| 15.9] 83.1

P-1 JO9Sow0aNI957



